CHRISTMAS TREE ADDITION PUZZLE
LEVEL 1

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

1312
674
339
167 | 172 140
76 64
41 43 33 31
24 19 14 17
12 9 13 6 8
2 9 2 6
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 2

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

638
339 | 335 | 303
167 | 172 | 163
76 64
41 44 33
20 21 20 19 14 17
12 9 11 13 6
7 2 4
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 3

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

339
167 | 172 140
82 87
44 43 33 31
20 19
12 9 11 13 6
7 2
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 4

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

1312
172 140
85 87 76
20 20 24
12 11 6
S 4
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 5

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

1312

339

163

140

87

76

41

31

20

20
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CHRISTMAS TREE ADDITION PUZZLE
SOLUTION

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

1312
674 | 638
339 | 335 | 303
167 | 172 | 163 | 140
82 85 87 76 64

41 41 44 43 33 31
20 21 20 24 19 14 17

12 9 11 13 6 8
5 7 2 9 4 2 6
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